[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

"

JARAA LA LA RARAN RALAE LALAE RARLI RARRNLARLE RRRRN LRRR)

10

105+ +p-r- - - T
5 L <+
41 A

1 e L o d - - e adkndbddhad -+
g 1
4
0.95

1072 107 1 10 10?

—=— DQM_DisplacedSUSY__mkFit_
Efficienq —— poMm_DisplacedSUSY__mkFit_BDT_

0.1
0.09
0.08 :
1 R e
118 B S S
1| e R e
e |
o0l

B Y N

0.028 - Al S
0.01H -1 W il
(T P ]

[ Efficiency vs. sim PV z |
0.02

0.018f
0.016
0.014
0.012
0.0
0.008
0.006
0.004
0.002
10

T

iy

o e e

o

0.9




	Contents
	Page 1


